K1 - Macierze sztywnosci elementéw kratownicy

elementy = (1,2, 3, 4) EA := 13MN dokladnsé +0.05kN/m
1 8
o = atan T3 =4.399-deg B :=atan 5 =57.995-deg
T
w:zz—ﬁ—a:27.60668-deg L27 :=~/ 64 +25m = 9.43398m
L1:=L27-sin(~) =4.3717m X3:=6m-L1-sin(a) =4.6647m
6
Y3:=4m-L1.-cos (a) =-0.35882m Y4 = —1m-1—3 =-0.4615m
10 4
Y6 :=—1m-1—3=—0.7692m Y5 = 5m-§—1m=1.5000m

Warunki brzegowe: uxy=0 uy;=0 uxz =0 uyz=10



Element "1" - blok macierzy sztywnoSci

Lx :=5m—-X3 = 0.33529m Ly :=4m-Y3 = 4.35882m

MLMzz\/(Lx)2+ (Ly) 2= 4.37170m

EA | (Lx)2 Lx-Ly 17.5  227.4 | kN
IQ\A::—' \J: -
Element "2" - blok macierzy sztywnoSci
Lx:=1m=1m Ly.:=Y4—4m = —4.461538m
AIA_M::\/(LX)2+(Ly)2:4.572234m
N EA | (Lx)? Lx-Ly | { 136.0 —606.8} KN

W Ly (Ly)2 (-606.8) 2707.2 | m
Element "3" - blok macierzy sztywnoSci
Lx:=3m=3m Ly :=Y5-Y4=1.961538m
MLMzz\/(Lx)2+(|_y)2=3.58436m

EA | (Lx)? Lx-Ly 2540.7 1661.2 | kN
o= J = —

(L)% | Lx-Ly  (Ly)?2 (1661.2) 1086.2 | m
Element "4" - blok macierzy sztywnoSci
Lx:=1m=1m Ly:=Y6-Y5=-2.269231m
MLMzz\/(Lx)2+(Ly)2=2.4798m

N EA | (Lx)? Lx-Ly | { 852.5 —1934.5} KN
W Ly (Ly)2 (-1934.5) 4389.9 | m



......................................................................................................................................................................................

Symetria J1+3%+3° | -3°

TP I D R
ésvmetnaé 394310 -] -]

R X L ;
§5ymetrla e -3¢ -y

5vmetria§J4+J1"+J”§ -Ju

...............................................................................

éSfmetriaé J7+Ju

........................................................................................................




